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6 times table )
Oxb6=___ 3xb= /x6=
Ixb=__ Nx6=__ Nx6=
2xb6=__ Oxb6=__ 3xb=
3xb=_ /xb=_ 2x6=
Uxb=__ 100x6=__ 8x6=
5xb6=__ Ixb=_ Ux6-=
bxb=__ Uxb=_ bxb=__
/x6=__ bxb=_ Oxb6=__
8xb=__ 12x6=___ 12x6=__
9xb6b=__ 2xb=__ 9xb6=__
10x6=__ 8xb6b=_ Ixb=__
Nx6=__ 9x6=__ S5xb=__
12x6=__ 5x6=__ 100x6=__
__ xb6=6 _ x6=72 __ xb6=u8
_ x6=72 __ _xb=6b _ xb6=54
_ xb6=12 __ xb=54 __ _x6=60
__ x6=24 _ x6=30 __ x6=0
__ xb6=18 __ xb6=36 _ xb=066
_ x6=30 _ xb6=u8 __ xb6=6
__ x6=0 x6=12 _ xb=42
_ x6=60 __ _xb=6 _ xb6=36
_ xb=54 x6=0 _ x6=72
_ xb6=36 _ xb6=42 __ xb6=18
__ xb=066 _ x6=24 _ x6=12
___xb6=Uu8 _ xb6=60 _ x6=30
_ xb6=42 x6=18 __ x6=24
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6 times table (A
Ox6: o 3x6° 18 7x6° yq
1x6= g Nx6- ef Nxb= ge
2x6 192 Oxb: o 3xb= 18
3x6: 18 Txb= g 2x6+ 12
Uxb= 2u 10x6= g0 8x6=_ug8
5x6° 20 Ix6= g bxb= 24
bxb* 24 Uxb= g4 bxb6 2g
Txb= g 6x6* 26 Oxb= o
8x6= 4 12x6=_72. 12x6=_ =2
Ax6= siu 2x6= 12 Ax6= gy
10x6= g0 8x6= 4§ Ixb= ¢
Nx6+ go Ix6+ cip 5x6° 2o
12x6= =2 5x6= 2o 10x6=_ ¢n
L _xb=6 12 x6=72 @ xb6-u8
12 x6:72 1L x6:66 Q. x6=54
2 x6-12 q_ xb=54 10 x6760
4 xb=24 g x6+30 0 x6%0
2 xb6-18 6 xb6:36 L x6=66
5 x6=30 % x6=U8 1 x6=6
o _x6=0 L2 xb:12 9 x6=u2
10 x6=60 L xb=6 e x6:36
q  xb:54 o _x6:0 12 x6=72
6 xb-36 9 xb6:u2 2, x6-18
|1 _xb6=66 4 xb=2u 2 x6=12
g xb-u8 10 x6=60 e x6=30
9 x6=u2 2 x6-18 4 x6=2u




